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CERTKILL

VMware VCIS550 : Practice Test
Topic 1, Plan, Install, Configure and Upgrade vCenter Server and VMware ESXi

Question No : 1 - (Topic 1)

An administrator is planning a vSphere infrastructure with the following specific networking
requirements:

* The ability to shape inbound (RX) traffic
» Support for Private VLANs (PVLANS)

 Support for LLDP (Link Layer Discovery Protocol)

What is the minimum vSphere Edition that will support these requirements?

A. vSphere Essentials Plus
B. vSphere Standard

C. vSphere Enterprise

D. vSphere Enterprise Plus

Answer: D

Question No : 2 - (Topic 1)

What two IT infrastructure components are virtualized by vSphere Essentials? (Choose
two.)

A. Networks

B. Applications
C. Storage

D. Management

Answer: A,C

Question No : 3 - (Topic 1)

An administrator attempts to install vCenter Single Sign-On Server. The installer returns an
error message indicating that the installation failed. Prior to the installation, all setup
prerequisites were met. The administrator has generated a vCenter Server Single Sign-On
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support bundle.

Which two files should the administrator analyze to determine the cause of the failure?
(Choose two.)

A. Server\utils\logs\imsTrace.log
B. Server\utils\logs\install.txt

C. % TEMP%\utils\logs\vminst.log
D. % TEMP%\vminst.log

Answer: A,D

Question No : 4 - (Topic 1)

Which Single Sign-On deployment mode should an administrator use for two 5.x vCenter
Servers configured with linked mode?

A. Basic Single Sign-On with vCenter Server Heartbeat
B. Multisite Single Sign-On

C. Basic Single Sign-On

D. Single Sign-On with Linked Mode

Answer: B

Question No : 5 - (Topic 1)

loce¥ectlnczademam VMware ESXi, 5.5.0, 1106514 | Evaluation (60 days remaining)

| Getting Started | Summary | Virtual Machines ' ResourceAllocation ' Performance JoGliilslE Wb [ ocal Users & Groups | Events | Permissions
Hardware Processors Properties...

Health Status General I\
+ Processors Model Intel{R) Core{TM) i7-3740QM CPU @ 2.70GHz
Memary Processor Speed 2.7 GHz
Storage ProcessorSockets 2
MNetworking Processor Cores per Socket 1
Storage Adapters Logical Processors 2

H rthreadi NfA
Metwork Adapters YERTESANIG /

Advanced Settings

Power Management

-- Exhibit --

Which two statements below could explain why the vSphere Client is reporting N/A for
hyperthreading? (Choose two.)
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A. The physical CPUs in the host do not support hyperthreading.
B. Hyperthreading is disabled in the host's BIOS.
C. The physical CPUs in the host are not multi-core.
D. The number of CPUs meets or exceeds the maximum without hyperthreading.

Answer: A,B

Question No : 6 - (Topic 1)

An administrator is upgrading a vSphere Distributed Switch. The existing switch is version
5.0 and the administrator wants to upgrade to the latest version possible. The environment
contains several ESXi 5.1 hosts.

Which two options are available to ensure that the upgraded switch will be compatible with
these hosts? (Choose two.)

A. Upgrade the vSphere Distributed Switch to 5.5

B. Upgrade the ESXi 5.1 hosts to version 5.5, then upgrade the vSphere Distributed Switch
to 5.5

C. Upgrade the vSphere Distributed Switch to 5.1

D. Upgrade the ESXi host switches to 5.5, then upgrade the vSphere Distributed Switch to
5.5

Answer: B,C

Question No : 7 - (Topic 1)

Which two Identity Sources are available to add for vCenter Single Sign-On authentication?
(Choose two.)

A. LocalOS

B. OpenLDAP

C. NIS as an LDAP Server
D. VCMSDS

Answer: A,B

Question No : 8 - (Topic 1)
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A small company wants to use VMware products for its production systems. The system
administrator needs to recommend a solution that will deliver High Availability to the
company's production applications.

What is minimum vSphere offering that will support this requirement?

A. vSphere Essentials

B. vSphere Essentials Plus
C. vSphere Hypervisor

D. vSphere Standard

Answer: B

Question No : 9 - (Topic 1)

A developer needs to create a multi-tier development stack for a home lab.

Which vSphere product will support the architecture required for the least software cost?
A. vSphere Hypervisor

B. vSphere Essentials

C. VMware Player
D. VMware Workstation

Answer: A

Question No : 10 - (Topic 1)

An administrator is unable to login to vCenter Server when using the vSphere web client.
The administrator successfully accessed vCenter Server using the client earlier the same
day.

What is the most appropriate first step the administrator should take to resolve this issue?

A. Verify the web browser being used has Adobe Flash plugin version 11.5 or later
B. Verify the vCenter Single Sign-On service is running on the vCenter Server

C. Verify the vSphere Web Server service is running on the vCenter Server

D. Verify the administrator has permissions configured in vCenter Server
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Answer: B

Question No : 11 - (Topic 1)

What is a valid plug-in status for a plug-in that has been added to a vSphere client?

A. Disabled
B. Unknown
C. Stopped
D. Installed

Answer: A

Question No : 12 - (Topic 1)

An administrator is evaluating whether to deploy vCenter Server on a Windows server or
on a vCenter Server appliance. The administrator has the following requirements:

* A web browser will be utilized to manage the vSphere environment.

* 16 ESXi hosts will be deployed.

* Licenses must be shared with a vCenter Server at another site.

* An external Oracle 10g database server will be used to host the vCenter Server
database.

Why will the administrator need to deploy vCenter Server on a Windows server?

A. Linked Mode is a requirement for the solution.

B. Oracle 10g is a requirement for the solution.

C. The vSphere web client is a requirement for the solution.

D. Management of more than 5 hosts is a requirement for the solution.

Answer: A

Question No : 13 - (Topic 1)
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Immediately after installing ESXi, an administrator observes that the Configure Lockdown
Mode option is grayed out in the Direct Console User Interface (DCUI).

What is the most likely explanation?

A. The host has not yet been added to a vCenter Server.

B. The BIOS on the host does not have NX/XD enabled.

C. The ESXi host is running in evaluation mode.

D. The host requires a reboot before this feature is available.

Answer: A

Question No : 14 - (Topic 1)

During the installation of ESXi 5.5, the following error message is reported:

Hardware Virtualization is not a feature of the CPU, or is not enabled in the BIOS.

Which condition would generate this message?

A. LAHF/SAHF is not enabled in the BIOS.

B. NX/XD is not enabled in the BIOS.

C. SSE3 is not enabled in the BIOS.

D. Hyperthreading is not enabled in the BIOS.

Answer: A

Question No : 15 - (Topic 1)

During an upgrade, the ESXi 5.x installer finds an existing version of ESXi and a VMFS3
volume. No virtual machines exist on the host or VMFS3 volume. The requirement is to
upgrade to VMFS5.

Which option should be chosen to meet this requirement?

A. Upgrade ESXi and preserve the VMFS datastore
B. Install ESXi and preserve the VMFS datastore
C. Install ESXi and overwrite the VMFS datastore
D. Upgrade ESXi and overwrite the VMFS datastore
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Answer: C

Question No : 16 - (Topic 1)

What happens to the status of users already logged into ESXi Shell when a vSphere
administrator enables lockdown mode?

A. Users remain logged in and can run commands, except to disable lockdown mode.
B. Users remain logged in and can run commands, including disabling lockdown mode.
C. Users are immediately logged out of ESXi Shell.

D. Users are logged out after a timeout specified by the vSphere administrator.

Answer: A

Question No : 17 - (Topic 1)

The vSphere administrator attempts to connect to an ESXi host via an SSH client and
receives the following security alert:

-- Exhibit --

The server's host key is not cached in the registry. You
have no guarantee that the server 1s the computer you
think it is.

The server's rsal key fingerprint is:

ssh-rsa 2048 04:82:51:45:19:24:77:44:b8:05:07:fd:24:1 2: b4 d2
If you trust this host, hit Yes to add the key to

PuTTY's cache and carry on connecting.

If you want to carny on connecting just once, without
adding the key to the cache, hit MNo.

If you do not trust this host, hit Cancel to abandon the
connection.

| | Cancel
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-- Exhibit --

The vSphere administrator needs to determine whether the RSA key fingerprint shown in
the security alert is the fingerprint of the intended ESXi host.

Which tool should the vSphere administrator use?
A. Direct Console User Interface
B. vSphere Client

C. vSphere Web Client
D. vSphere Management Assistant

Answer: A

Question No : 18 - (Topic 1)

The vSphere administrator is configuring directory services for an ESXi host:

-- Exhibit --
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— User Directory Service

Select Directory Service Type:

Local Authentication -

— Domain Settings

Domain:

Proxy Server:

—Trusted Domains

(8.4

Cancel

Help

-- Exhibit --

What should the vSphere administrator do to configure the host to use CAM services?

A. Check the Use vSphere Authentication Proxy checkbox.
B. Set Select Directory Service Type to CAM services.
C. Specify CAM$ for the Domain.

D. Set Trusted Domains to cam\name.tld where name.tld is the domain that the host is

joining.

Answer: A

Question No : 19 - (Topic 1)

An administrator creates an ESXi cluster using vSphere Auto Deploy. The ESXi hosts are
configured to get a management IP address from a DHCP server. The administrator needs
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